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4-4 PROVING TRIANGLES CONGRUENT-SSS, SAS (DAY 2)
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Example 1:

EXTENDED RESPONSE Triangle ABC has vertices A(1, 1), B(0, 3), and C(2, 5).
Triangle EFG has vertices E(1, —1), F(2, —5), and G(4, —4).

a. Graph both triangles on the same coordinate plane.

b. Use your graph to make a conjecture as to whether the triangles are congruent.
Explain your reasoning.
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Example 2: Triangle JKL has vertices J(2, 5), K(1, 1), and L(5, 2). Triangle NPQ has vertices
N(-3, 0), P(-7, 1), and Q(-4, 4).

a. Graph both triangles on the same coordinate plane.
b. Use your graph to make a conjecture as to whether the triangles are congruent. Explain your

s The As appesr 1o be comgaent —> hove

c. Write a logical argument using coordinate geometry to support the conjecture you made in part b.
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Example 3: Triangle ABC has vertices A(-3, -5), B(-1, -1), and C(-1, -5). Triangle XYZ has vertices
X(5, -5), Y(3, -1), and Z(3, -5).

a. Graph both triangles on the same coordinate plane.

b. Use your graph to make a conjecture as to whether the triangles are congruent. Explain your
reasoning. The As G-PPQG-S' 4o lhove Same ghc,_\'_) R +Si12e.

c. Write a logical argument using coordinate geometry to support the conjecture you made in part b.
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WARNING!

Although SAS is a congruence poslulate s NOT.
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GIVEN: CB = FE, AB =DE, and /A = /D.

Although SSS is a congruence postulate, AAA is NOT.
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